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ONEE2 sl E5AAE Js2Y 8,500
OJNEZATINN el 589
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2N

GRS
X

I3 odsNsd
el YHBSH (sl &2)
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
207 SO0 15,000 0 15,000
01 A=Al 15,000 0 15,000
OZoiAl 42X SH 2= 15,000
YHES2 2 (ZHIER) 5,500 5,500 0
= 2,200
Al 3,300
307 212+0 & 5,500 5,500 0
& 2,200
Al 3,300
M ASIMSEER 5,500 5,500 0
OLHBEFYL BARY 5.500
< 2,200
Al 3,300
dEESF2A 2E(MHME) 10,000 12,040 A2,040
307 212t0l & 10,000 10,000 0
M ASIMSER 10,000 10,000 0
OgdEs=2 gAa=g 10,000
Hd ISt Al d 101,872 57,142 44,730
AT Al ALY 245 21,200 55,690 A 34,490
201 2Bt2 16,200 50,690 A 34,490
01 At 22l bl 12,200 35,690 A23,490
OWdTaZAl =248 S22 Us L /A3E 6,000
OWdat=Al A oY & 2= M 2,000
Oodalat=Al Zd8aAN 22 H#H+¢
70,000& = 30E = 23 4,200
03 A2 EHI 4,000 15,000 211,000
Oold - Jt=as 243 82 u=s
1,000,000& = 43l 4,000
203 YR =&Y 5,000 5,000 0
03 Al =T P2 F Y| 5,000 5,000 0
Oy - JIIBXFFTA =24 P2 F&H| 5,000
Hddlsty 3224 49,172 1,452 47,720
201 2er= Sl 47,572 1,452 46,120
01 At 2t 2l bl 47,228 0 47,228
Ooty RolEia X (LUR)
467,000& * 129HE = 70H 39,228
Oonts AN E M= 3,000
OB F X7 HAAS 5,000
02 329l 344 1,452 21,108
oot 38 AlS=(2Sadl)
5,720 * 129H& = 5 344




A ISR AT (2 &HH)
- _ _ RE]

H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 1,600 0 1,600
09 HAIAHI EAZ 1,600 0 1,600

OO0t ot X T M2 ZO A Ad2a
8,0008 » 20 = 103 1,600

IE=&30IE8 =4 25,000 0 25,000
307 212t0| & 25,000 0 25,000
02 DIZHB AAIE E X 25,000 0 25,000

OlIS3sH 923 AFY 25,000
HAEESTZA AGTEHYE 29 6,500 0 6,500
201 LBt 2,900 0 2,900
01 AFR2 22| H| 500 0 500
OWHEEBIT A ACIEHS 319 =372 500
03 A2 | 2,400 0 2,400
OWAERSIEA AMSIEHS H25 =
40,000€ * 30 * 23] 2,400

301 et A= 3,600 0 3,600

11 J|EtE A= 3,600 0 3,600

OWHERBIE Al AMSIENHE &S =&

20,000 = 30Y « 63| 3,600

JEUHEHEXAE 1,189,295 1,018,868 170,427
= 640,699
& 316,607
Al 231,989

QHME XNE2Y 910,055 739,628 170,427
= 640,699
& 91,607
Al 177,749

306 52 456,369 369,814 86,555
= 315,205
& 47,750
Al 93,414

o1 s2 456,369 369,814 86,555
OZMANSFEHLAMIHEH 29 456,369
= 315,205
== 47,750
Al 93,414

307 212t0| & 453,686 369,814 83,872
= 325,494
o= 43,857
Al 84,335

02 DI AAIE E X 453,686 369,814 83,872
OLMHAE ML HE 2 453,686
= 325,494
= 43,857
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L= B
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- _ _ RE]
M- B (B H) - NSAY - B %Eﬁ 2t
Al 84,335
HolEjgMy 29 (EHIEX 265,000 265,000 0
& 225,000
Al 40,000
307 2Iz2to| & 265,000 265,000 0
o 225,000
Al 40,000
02 QIZHAE AAIE E X 265,000 265,000 0
OZalddol Al 249 265,000
=} 225,000
Al 40,000
Aol e 2 (NMIHA) 9,240 9,240 0
307 giztol & 9,240 9,240 0
02 QIZIA AAIE E X 9,240 9,240 0
O&dssd Az 770,0008 * 120 & 9,240
FJEAGEHALAFAXA 5,000 5,000 0
201 et 5,000 5,000 0
03 A2 HH| 5,000 5,000 0
O Fgere3 5,000
e X 634,975 564,406 70,569
= 6,200
Jl 261,435
= 123,451
Al 243,889
HEZH ol ESAE 29 A(Z2NEX 157,507 111,136 46,371
J| 103,455
& 27,026
Al 27,026
307 2I2t0| A 123,507 111,136 12,371
J| 86,455
o 18,526
Al 18,526
10 Al EXAIEEA 119,579 107,636 11,943
OJIEZ< Ho At 119,579
J| 83,705
= 17,937
Al 17,937
11T AISIEXAIEEX 3,928 3,500 428
OJIEZS oA Hg=ad 3,928
J| 2,750
== 589
Al 589
402 BI2H X 20| M 34,000 0 34,000
Dl 17,000
o 8,500
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Al 8,500

02 U EALEZ(0IETHR) 34,000 0 34,000
OJJE=E Lol X ES3AE JIsEZ 34,000
J| 17,000
< 8,500
Al 8,500

IIEEY Ik ESAE 28 XNADISEX) 32,000 32,000 0
J| 17,000
Al 15,000

307 21201 A 32,000 32,000 0
J| 17,000
Al 15,000

11T MISXASEEX 32,000 32,000 0
OXNE = TolX ES A4 HI== X MY 32,000
J| 17,000
Al 15,000

IHEES I A Xgsls 2208 2 224 X2 32,514 34,780 A2,266
J| 20,660
< 5,432
Al 6,422

307 gl2tol & 32,514 34,780 A 2,266
J| 20,660
< 5,432
Al 6,422

01 2222l 9,700 7,700 2,000
OJE=4 Toik 2=Hl X 9,700
J| 4,690
< 2,010
Al 3,000

11T MISXASEEX 22,814 27,080 A4, 266
ONEEY Ik Xgz=s 220 22,814
J| 15,970
= 3,422
Al 3,422

IHEEH dgs 2HAE 82,908 73,690 9,218
J| 41,454
< 20,727
Al 20,727

307 gl & 82,908 73,690 9,218
J| 41,454
< 20,727
Al 20,727

10 AL SXAIEEE2EH EX 82,908 73,690 9,218
OJNE=gags 29| 82,908
J| 41,454
< 20,727
Al 20,727
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g d=1sd
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEBSAE Aeh 2HRNA(ZHEX) 60,000 50,000 10,000
< 18,000
Al 42,000
307 gl2tol & 60,000 50,000 10,000
< 18,000
Al 42,000
10 AL SXNAIEEE2EH EX 60,000 50,000 10,000
Ooglztaga 24 60,000
- RotsIIFAEHH 60,000
< 18,000
Al 42,000
OEBSALE s AR (KMIE) 21,855 19,000 2,855
307 21201 A 21,855 19,000 2,855
10 M2 SXNANEHE2IHEX 21,855 19,000 2,855
ogiztaga 29 21,855
- ROISIHESA G HH 21,855
JIEEE Jtoll At nEXNZEZOY 29 14,286 14,286 0
J| 10,000
< 2,143
Al 2,143
307 21201 A 14,286 14,286 0
J| 10,000
= 2,143
Al 2,143
11T MISRASEX 14,286 14,286 0
ONEZY Jtol Xt wEXNzE208 2 14,286
Il 10,000
< 2,143
Al 2,143
428 dgs 2N 75,610 73,688 1,922
J| 37,805
< 18,903
Al 18,902
307 gl2tol & 75,610 73,688 1,922
J| 37,805
< 18,903
Al 18,902
10 AL SXNAIEEE2EHEX 75,610 73,688 1,922
Od=g4dga 29 75,610
J| 37,805
< 18,903
Al 18,902
SdEZdNoiA g, 322208 7,000 7,000 0
J| 4,900
< 1,050
Al 1,050
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307 glz2tol & 7,000 7,000 0
J| 4,900
< 1,050
Al 1,050

11T M SXASEEX 7,000 7,000 0
Od=Zd8Icik Ngsgls T2 7,000
J| 4,900
< 1,050
Al 1,050

ZSOIoiA 2=, 208 A& 5,277 5,277 0
J| 3,694
< 1,583

307 glz2tol & 5,277 5,277 0
J| 3,694
< 1,583

01 92724l 5,277 5,277 0
OdZ4Ici At 2 Z24Hl,2tE8l K& 5,277
J| 3,694
< 1,583

HSEHBRAL BML 22 40,050 47,350 A7,300
= 20,025
Al 20,025

307 21201 A 40,050 47,350 A7,300
< 20,025
Al 20,025

11T ALS S RALEE = 40,050 47,350 A7,300
OWEESAIE SAXL OF2t=E 3,650
< 1,825
Al 1,825
OEESAE SAX =& 36,400
< 18,200
Al 18,200

HEY 2H AE SAMAL EL= 960 960 0
J| 480
Al 480

307 21201 A 960 960 0
J| 480
Al 480

11T AL S XA E = 960 960 0
OE=EY 23d A& SAMXL E=1SH 960
J| 480
Al 480

ZAWHOL FHNY SN 31,410 31,119 291
Jl| 21,987
< 4,712
Al 4,711
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307 glz2tol & 31,410 31,119 291
J| 21,987
& 4,712
Al 4,711
11T M SXASEEX 31,410 31,119 291
OFgmaid =AHXE 2SN 31,410
J| 21,987
< 4,712
Al 4,711
OtSHEHMRGA2E & 43t 8,310 8,310 0
201 et 910 910 0
01 AFR 22l 910 910 0
OO SHELEXAHANY 22 HA&=E
70,000& = 13%Y « 910
307 glz2+0l & 7,400 7,400 0
11T MISRASEX 7,400 7,400 0
ontsxzog 2¢ 7,400
OlSHEAMEX A2 S 7,000 7,240 2240
= 3,500
< 1,750
Al 1,750
307 glztol & 7,000 7,240 A 240
= 3,500
< 1,750
Al 1,750
11T AR SXAIEE =X 7,000 7,240 A 240
O0tsH&8EX AN 29 7,000
= 3,500
=) 1,750
Al 1,750
Ors oA XI & Ml & K& 5,400 7,320 A 1,920
= 2,700
Al 2,700
307 glz2tol & 5,400 7,320 A 1,920
= 2,700
Al 2,700
11T M SRAISE EX 5,400 7,320 A 1,920
OOts¢AdXNE HMAXE 5,400
= 2,700
Al 2,700
S EZSEZ2ENA 7,000 7,000 0
=) 2,100
Al 4,900
307 glztol & 7,000 7,000 0
< 2,100
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g d=1sd
Sel: oEAY B CERED
= _ — d =
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Al 4,900
11T MISXASEX 7,000 7,000 0
OL0H0H - Hd =& 2 EAMEY 7,000
< 2,100
Al 4,900
0= oy 2 X2 3,000 5,000 A 2,000
201 Let2d] 3,000 5,000 A 2,000
01 At 22l 3,000 5,000 A 2,000
Odsl8 e i &2t 5,000& = 200& 1,000
O&3 S - H0H0H HEWNs 2A+E
400,000& = 53 2,000
MIISXAE XA 42,888 25,940 16,948
201 Let24d] 860 4,640 A 3,780
01 At 22/l 860 4,640 A 3,780
OAZISXIAIE B =2 860
307 glz2+ol & 42,028 21,300 20,728
11T M SXAISE EX 42,028 21,300 20,728
O0dgEZ8NzE ¢dY ASAMG (WL & A
o) 34,828
- 23| 10,000
—dgodEllEs 22,228,000& » 1H 22,228
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11,0003 * 2% = 25A12F = 128 6,600
Dl 2,640
Al 3,960
-&J|2544 60,000 » 1H = 128 720
J| 288
Al 432
-IExY 100,000& = 128 1,200
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M 08I ED
= HE2GFU (WAL=
& o 2d| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 480
Al 720
-—gRFA0HY 200,000& = 59 » 12& 12,000
J| 4,800
Al 7,200
-4 ws A 24 2,400
| 960
Al 1,440
OlARHH(FAHALSXHEH)(SHESX) 117,480 106,680 10,800
< 9,000
Al 108,480
101 @14 Hl 117,480 106,680 10,800
= 9,000
Al 108,480
02 JIEt A2+ 117,480 106,680 10,800
O&EE o] 117,480
-=0 1,780,000 » 3% » 12&8 64,080
= 9,000
Al 55,080
-Jlz=¢ 1,780,000& * 43| = 3Y = 1/2 10,680
- Z A S A 130,000& = 3H = 123 4,680
—u Sl 130,000& = 3H = 12& 4,680
— A E S|
1,780,000% * 23| = 3Y = 1/2 5,340
- DA K& bl
1,780,000% * 53| » 3Y = 1/2 13,350
— GIOtE AHH| 50,000& = 3% = 7¢ 1,050
—ANZ2AZ R
12,000& = 3H = 25A12t = 12& 10,800
-&3J25Y 45,000& * 3% = 128 1,620
-IE=¢ 100,000& * 12& 1,200
ol 2yl (Lol AI X2 S ALAIE ) 227,106 217,017 10,089
101 @14 dl 227,106 217,017 10,089
02 JIEH R 2+ 227,106 217,017 10,089
O3 SAHdE HNE EFe=aaE Al 49,569
-=20 3,131,440& » 1H » 128 37,578
-d2=¢ 3,131,440& * 0.5 » 198 = 23| 3,132
-tEE 80,000& = 1H » 12& 960
—AzZte2es¢
11,730& = 25A12t = 18 « 123 3,519
- HE S| 3,131,440 * 0.6 * 23l 3,758
—XENS
3,131,440% * 0.85 = 1/30 » 7 622
O3 SAHEE HNJ 8F37g4E o] 84,858
-=0 2,659,170& » 2% » 12& 63,821
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2AH: HEIL
H

g ZQ%Q%HI(O#’SJPZEEH
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-d2Y  2,669,170& * 0.5 » 2% * 23| 5,319
-JIEg 80,000& = 2H » 123 1,920
S ECES
10,6003 = 25A12t = 28 « 123 6,360
- E IO
2,659,170& = 0.6 » 2% * 23] 6,383
—HXEAS
2,659,170% * 0.85 = 1/30 = 2% * 7 1,085
OXNESAEEH HN@ 2824 Al 72,679
-=0 2,225,530& » 2% » 128 53,413
-&2=9 2,225,530& x 0.5 » 2% * 23] 4,452
-JtE+d 120,000& = 28 = 123 2,880
—A2eZ2RE
9,5143 * 25A12t « 2 + 128 5,709
- g Z St
2,225,530& « 0.6 » 2% * 23] 5,342
PN
2,225,530% * 0.85 = 1/30 = 2% * 7L 883
O SAHE HE EAZ
10,000,000& * 29 20,000
=3t 77,366 ,210 18,156
JlE2&l 77,366 ,210 18,156
201 Yet2 Y| 29,316 1910 8,406
01 At 22l 28,730 ,804 7,926
Oorzt & FL22XS4AH 740,000& = 15F 11,100
OJIZ2AR &I 400,000& = 12& 4,800
OZgleH ¥ BWAJ|D A28 7¢ 4,410
OZd=AI &2 260,000& = 12& 3,120
OSAMEX 22,000 = 1008 A 2,200
OJIEt==EH| 2,500
OXJAGIH M= 40,000& = 15Y 600
02 =224l 586 106 480
OTV |4l 8,800& » 12& 106
O=8EZ 23 40,000& = 12& 480
202 044l 43,200 ,600 9,600
01 = LH o4 1l 43,200 ,600 9,600
OJIeg =80l 43,200
203 YR =&l 3,000 , 100 900
04 FENSEHE=LH 3,000 , 100 900
ORN2Y gRF=2HI 250,000& * 123 3,000
204 AR A H| 1,200 600 600
01 ¥R 1,200 600 600

_39_




SN OEED
Ha: ¥EH2YY
el Jl23dl 9 )
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OFSE 100,000& * 12& 1,200
405 KtakS 650 2,000 A 1,350
01 Xtat 650 2,000 A 1,350
O=& 300
o« 70,000& = 54 350
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